
Lösung Spannungsabfall in Leitungen NGÜ 

2.  

I = 7 A 

l = 8 m UL =  
2 × l × I

γ × A
 

A = 0,75 mm² UL = 2,66 V 

UL = 2,66 V  

3.  

l = 50 m I =  
UL × γ ×A

2 × l
 

A = 4 mm² I = 26,88 A 

UA = 230 V 

UL = 12 V 

I = 26,88 A 

4. 

l = 12 m UL =  
2 × l × I

γ × A
 

A = 1,5 mm² UL =3,14 V 

I = 11 A 230 V 100 % 

UA = 230 V 3,14 V x % 

UL = 3,14 V x = 1,365 % 

% = 1,365 

5. 

l = 55 m UL = 3,45 V 

A = 1,5 mm² I =  
UL × γ ×A

2 × l
 

UA = 230 V I = 2,63 A 

UL = 1,5 % von 230 V 

UL = 3,45 V 

I = 2,63 A 

  



Lösung Spannungsabfall in Leitungen NGÜ 

6.  

A = 2,5 mm² UL = 3,45 V  

I = 15 A l =  
UL × γ ×A

2 × I
 

UL = 1,5 % von 230 V l = 16,1 m 

l = 16,1 m 

7. 

A = 1 mm² UL = UA – UE  l =  
UL × γ ×A

2 × I
 

UA = 232 V UL = 4,5 V l = 50,4 m 

UE = 227,5 V  

I = 2,5 A 

l = 50,4 m 

8. 

I = 9 A UL =  
2 × l × I

γ × A
 

l = 25 m UL = 5,36 V 

A = 1,5 mm² UE = UA – UL 

UA = 230 V UE = 224,64 V 

UL = 5,36 V 

UE = 224,64 V 

9. 

I = 5 A UL =  
2 × l × I

γ × A
 UA = UE + UL 

UE = 230 V UL = 4,64 V UA = 234,64 V 

A = 2,5 mm² 

l = 65 m 

U1 = 234,64 V 


